(3 @& | w»r<LFPE

54 7 | vuys-ERELC

& & | H1200

& 1190 (&)

 HEE=S | KFTHO1983

£ 28 O
5 934509
T [@) A o
150° & — ['
1190
35 1103 52
ke 20
NEB O3 o)
- i \\\<>
L i {HFAPR (17 8) OHAMAN (1/8) NEFFHER (1/8)
. @8
N -
[(C—]
B 8
- &
55 N B (mm) W & % ]
1 BRIk 050X 50%13.2 STKR400 BENAEE (THBR®- %)
[ é} 4 2 M 050X 50% 3.2 STKR400 BENEEE (THBN®-> %)
3 Ait%vy 7 t1.6 SGH BHHRE (FHBRY-> %)
N —\ - 4| mEgkR (RED 50% 120 AB063S BRBIBLRE
T — - = 5| mEsR GeRD 50% 120 AB063S BREEORE
/ ol 8 6 ARk 25% 60 A6063S BRE{LEAKE
) g < ARIXEY 3.0 71 HEREAAI -
o - — 8 [ - IJANY— -
Q 9 R /1 — t2 A1100P 3%
\@ ®/ 10 Ry T % 168 40y .
11 vy y-5t L[Cy)-R - y7 48
12 FEMATL - b t2 ATV A -
13 SEHMTL - b t2 ATYUVA -
0450 14 LYY t6 SPHC BENBEE (THBN®- %)
15 €y t6 SPHC BERARE (THBN®- %)
16 €y IhE $12 SGD BREND - &
BUR (1720 17 Blcy 4x20 ATYLA -
- 18 Bs 12 &7 -
eSS o 19 =T 3.2 SGH HERAZE (TRERD- &)
i 5TRCT. 20 WA | M10x 75 4 613% BHBRY - X
21 ¥ IhRY M5x 10 ATV A -
22 ] M4x 10 ATV A -
23 FTANZY M6x 15 ATYUVA -
24 F7ZA by N— H52 HHTA A -

0F) BRARIBROLY. FELLKEET I LAHYVET,
BRER: v )y 553, BRFRERVETS,
Ny §-8 (7528 LCy ) - ZaTBAEZTO,
(Ky sty ¥64mm\ EES50mm) )
BEOBAE. RT3 -y VY I-%ITBAETD,



